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< 298,920
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FEZ 223229 19,000 16,600 2,400
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= 6,800
= 105,300
A2 F2AHESHEH 249 X 95,100 90,000 5,100
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OFoee & SXNsdHa & MU
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< 2,000
s 2,000
ZONoldRel K& (Lery dxiel) 495,282 459,032 36,250
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= 32,645
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—EEY RO ANE DR LA 4
150,000& » 2% 300
202 Odl 5,400 5,400 0
01 = LHA YI 5,400 5,400 0
O&FMel=XgRF=& 150,000 » 3H  12& 5,400
203 R =&l 1,650 1,650 0
03 A Z=XH S =AY 1,650 1,650 0




2H: FoI=XD

mE: Fojel =X S

Sl Zojel =X B CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZOM=RIAIZH 2HE 3] 150,000& * 113l 1,650
ZOHAXATHEAL JIsES 54,000 0 54,000
2 27,000
< 27,000
307 21201 A 54,000 0 54,000
= 27,000
< 27,000
11T MISRASEX 54,000 0 54,000
OFMWAIZALE HHI7Y(SAZD)
50,000,000& 50,000
= 25,000
< 25,000
OZMAZZANEE SFEE 7L
4,000,000& 4,000
= 2,000
< 2,000
BOHQIHEAL BIHFI e 2,140 0 2,140
=2 1,284
< 257
e 599
307 glz2tol & 2,140 0 2,140
= 1,284
< 257
e 599
11T MISRASER 2,140 0 2,140
O ZOeIAN=F=AIE 2183 dg X2
2,140,000& 2,140
= 1,284
< 257
[ia 599
ZHONOI I CH Al 22l X & 82,000 0 82,000
< 28,700
s 53,300
307 glz2+ol & 82,000 0 82,000
< 28,700
fia 53,300
11T MIEXASEX 82,000 0 82,000
OZOHCIAICH Atcll 22l X & 82,000,000& 82,000
< 28,700
[ia 53,300
HOHQNFAIL MEXNCE DHAASH 56,292 0 56,292
= 39,405
< 5,066
s 11,821
307 21201 A 56,292 0 56,292
= 39,405
< 5,066




AN FUASIIB
e =X s
gelr ZoHe sX &

X ZH
S =

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o 11,821
10 MM SAANEEHESIGHEX 56,292 0 56,292
OZMAHFAAL MEXNEZE WDHIESSH
56,292,000& 56,292
= 39,405
& 5,066
= 11,821
JlxzMeg & 13,469,239 13, 139,687 329,552
= 10,403,814
Fag 79,023
& 1,245,605
= 1,740,797
A XHE AN 2,206,994 2,542,091 A 335,097
= 1,551,645
Fag 79,023
&< 172,898
= 403,428
KNAXEE ASIAH A EXAS (JHAIZIEE2E 20| 98,779 110,913 N 12,134
Arel)
Fag 79,023
o=} 5,927
= 13,829
307 QI2t0| ™ 98,779 110,913 N 12,134
Fag 79,023
=} 5,927
= 13,829
11 A EXAIEE X 98,779 110,913 N 12,134
OJIAIZHY SIE2 X & ALY 98,779,000 98,779
Fag 79,023
& 5,927
= 13,829
MNAS MM HS EEXNAY 92,063 106,112 A 14,049
& 27,619
= 64,444
307 2iz2to| & 92,063 106, 112 A 14,049
& 27,619
= 64,444
11T AISIEXAIE EX 92,063 106,112 A 14,049
OMASKARAHES EEXNI MY
92,063,000 92,063
= 27,619
= 64,444
ANEZZ ALY 1,570,460 1,665,293 N 94,833
= 1,256,369
& 94,227
= 219,864
301 et X = 18,838 76,523 N57,685
= 15,071




2N
X ZH -
L= B

el

SRS
W e
= ez Jg
> i B

i >

e 02
[
H0
o
hY

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

1,130
2,637

M

01 Al 2&8H =062 18,838 76,523 A 57,685
= 18,838,000& 18,838
15,071

1,130
2,637

MW

307 glztol & 1,551,622 1,588,770 N 37,148
1,241,298
,097
217,227

M A
&8

11T M SXALE EX 1,551,622 1,588,770 A 37,148
OXgz22 Mg X3 1,551,622,000& 1,551,622
1,241,298

,097
217,227

MW
&8

NS X&dEH SALA K& 15,600 15,600 0

4,680
10,920

M

307 21201 & 15,600 15,600 0

4,680
10,920

M

10 AFRIS XA 2 HE 23

OX SRt dE ZAHAH

15,600 15,600 0
15,600,000& 15,600

4,680
10,920

00 A

I

Mo

pea}
19
pea}
e
=
o
Ho
02

183,996 290,753 A 106,757
128,798
16,560
38,638

M

307 glztol & 183,996 290,753 N~ 106,757

128,798
16,560
38,638

MR

10 A SXAEHE2EHIEX 183,996 290,753 A~ 106,757
OXNSTEdH 29 183,996,000& 183,996
128,798

16,560
38,638

A

ru
Hu
ar
e
30
i
14
il
=
10
i
N
il
>
0

208,096 278,850 ANT0,754
166,478
12,485
29,133

HH A

307 21201 & 208,096 278,850 ANT0,754
166,478
12,485
29,133

HH A




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

17.,367,000&

107,971,000&

ougrIss%

13,386,000

OHUSYISER 16,622,0009

52,750,000&

MW H A 4 Hn HH A

MW

208,096

17,367
13,894
1,042
2,431
107,971
86,377
6,478
15,116
13,386
10,709
803
1,874
16,622
13,298
997
2,327
52,750
42,200
3,165
7,385

278,850

Mo

23,000

6,900
16,100

26,570

A 3,570

307 glztol &

M H

23,000

6,900
16,100

26,570

A 3,570

10 A SXAEHE2EHIEX
(]
=

OXEAdeds =X AU (EEE)
2

EUNE

23,000

23,000

6,900
16,100

26,570

A 3,570

EURLY

15,000

4,500
10,500

15,000

402 212t A= 01 &

M H

15,000

4,500
10,500

15,000

[m]

12+

[

t

02

>

F2AMSEZ(0IEMSA)

Arel MAX Al BB I A
0

15,000, 000&

N

O
>~

gk

Mo

15,000

15,000

4,500
10,500

15,000

Mo R

11,262,245
8,852,169
1,072,707
1,337,369

10,597,596

664,649

J

r

il
o
-

206, 151

220,912

A 14,761




2N
X ZH -
L= B

el

o
1 1 &

Xl
o

SA X (Sl & &)

T
0z 0z It
i >

SRS

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

164,921
20,615
20,615

Mo

301 LEtEH S 206,151 220,912 A 14,761
164,921
20,615
20,615

A

SR 206, 151 220,912 A14,761
2% X 206,151,000 206, 151

164,921
20,615
20,615

HH A

A= 10,340,517 9,519,692 820,825
8,272,413
1,034,052
1,034,052

U AT

301 LEIEN S 10,052,517 9,309,692 742,825
8,042,013
1,005,252
1,005,252

U AT

& =623 10,062,517 9,309,692 742,825
OJIzZ==S A 4A=SH 10,052,517 ,000& 10,052,517
8,042,013

1,005,252
1,005,252

Mo H

307 21201 & 288,000 210,000 78,000
230,400
28,800
28,800

MW

10 AR SAAEHES2SHIEX 288,000 210,000 78,000
OAlE dAHl=N 288,000,000& 288,000

230,400
28,800
28,800

HH W

nEg 18,770 24,458 A5,688

308 MtXIEHMSOIH 18,770 24,458 N5,688

08 wFJl 20Ut = 18,770 24,458 A5,688
Ouss 18,770,000& 18,770

B AFZRI 2 O 117,932 105,000 12,932
94,346
11,793
11,793

HH A

w
2
e
=t
H
sl
oy

117,932 105,000 12,932
94,346
11,793
11,793

HH A




A FUEX L
A I ZMEBE
Sl JEMBLST N (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 Al E & A 452 117,932 105,000 12,932
OdfaEMZ20 117,932,000 117,932
= 94,346
o= 11,793
= 11,793
A2 48,180 38, 100 10,080
= 48,180
301 et A =2 48,180 38, 100 10,080
= 48,180
01 Al B & A 462 48,180 38, 100 10,080
o= A 48,180,000 48,180
= 48,180
NAES M 4 ded 10,240 16,056 N5,816
o 3,072
= 7,168
301 et M3 10,240 16,056 N5,816
o= 3,072
= 7,168
01 AISIE& A %52 10,240 16,056 N5,816
OHeEzsEs X 9,240,000& 9,240
& 2,772
= 6,468
OEgoY 1,000,000 1,000
= 300
= 700
MNASS XH gstEH =2 A& 6,350 23,750 A 17,400
= 3,175
= 3,175
301 et M= 6,350 23,750 A 17,400
=} 3,175
= 3,175
01 Al E& A 262 6,350 23,750 A 17,400
OMASXEH Al ist=H 2 K&
6,350,000& 6,350
o= 3,175
= 3,175
AaLAHS ALEEE & 162,096 96,000 66,096
301 et M= 162,096 96,000 66,096
01 Al B & X 262 162,096 96,000 66,096
ONMASEZF0 Z0AHAUAEEE L Lo HI) Y
g8z & 162,096,000 162,096
SSXIA Y 22 14,900 14,900 0
201 2Et24H Y| 3,900 3,900 0
01 AP 22| H| 3,600 3,600 0
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AN =S
MM ) ZMEDE
Sl JEMEASZT X (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O e8| 3,600
— g2 d=FHU MH
5,000& = 6024 » 12& 3,600
02 2324l 300 300 0
Oz22= & HMA 300
— SHEH AMER 25,000& = 10H = 128 300
202 044l 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
OSE XA HE2FA 150,000& *» 59 = 12 9,000
301 LA F 2,000 2,000 0
01 MI28HE+06l= 2,000 2,000 0
OZ252BIIE JGN 23HS X
20,000& = 100H 2,000
ABIZERHE 29 337,109 341,815 A4,706
= 272,309
[ia 64,800
301 LeEBAF 337,109 341,815 A 4,706
= 272,309
s 64,800
0B M ELRIBAS 337,109 341,815 24,706
OANI=ERRE BA=EXTE LR2(40%) 337,109
-32 241,659,000& 241,659
= 241,659
— n Sl 24,650,000 24,650
= 24,650
— Il =l 6,000,000& 6,000
= 6,000
— SA| 6,000% * 208 * 128 * 459 64,800
FHAHSX 2,096,000 1,030,796 1,065,204
= 729,663
s 2,500
< 342,550
s 1,021,287
HANES & FUMEMHHA X 1,834,862 774,336 1,060,526
= 698,324
s 2,500
< 330,000
[ia 804,038
ormel s 8,396 8,396 0
201 Let24dH] 396 396 0
02 =24l 396 396 0
OMi===HZI S22 33,000& = 12& 396
307 glz2tol & 8,000 8,000 0




AN =S
HE: H A4S
SRl FHUNS S FUMBHHA X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 22272l 8,000 8,000 0
OolMe MAFsH(S2 & &AI7F)
3,000,000& 3,000
Ol #5288 FL(PFSHE 8)
5,000,000& 5,000
Mol 2s2I=2 (01 MR S2+3Hl) N 57,000 37,729 19,271
< 57,000
301 LEMZ 2,000 1,400 600
< 2,000
09 SALAHIX A S 2,000 1,400 600
OMal s w=4H(10Y) 2,000,000& 2,000
< 2,000
307 21201 A 55,000 31,000 24,000
< 55,000
01 2724l 55,000 31,000 24,000
OMol *&I13(0IxHEe 25Hl) 31,000,000 31,000
< 31,000
OMal#&JI2 (Ml *s23 7€)
24,000,000 24,000
< 24,000
2o =X AoH ¥ FHMU X 8,700 8,700 0
301 LerEAF 8,700 8,700 0
01 AR 2Z A5l 3 8,700 8,700 0
ogrgeol & ==X #otdl
10,000& = 10Y¥  12& 1,200
OdHAAZ X FHMH X  1,500,000& = 2H 3,000
ORHN=3 X &MLl XA
1,500,000& * 39H 4,500
02X s 2892 & X3 146,000 198,000 A52,000
201 £B-2dH| 6,000 6,000 0
01 At 22l 6,000 6,000 0
Oget=gH| 6,000
—0=2sJ NEJEH &5 8 =Y
6,000,000& 6,000
301 LEEAS 103,000 155,000 252,000
01 MEIBZE 2063 103,000 155,000 252,000
OMBIAAHA X2 (600FF) 15,000, 000& 15,000
OgE (4, =4) 28 9=
88,000,000 88,000
307 21201 A 37,000 37,000 0
02 It S AT EL 37,000 37,000 0
Oty XN 37,000,000& 37,000
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2N
X ZH -
L= B

el

o=

= =oIMatMdHA XY

- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
XNEEXHA 29,600 29,600 0
201 gBt24d| 16,400 16,400 0
01 AP 22| H| 16,400 16,400 0
Ogbt4=24| 16,400
— Z 0}t S X AHI A OFLY ZH X HIZ
8,000& * 1,000 8,000
— 20l EXAHA EE2E2 HE
2,000& * 2,00074 4,000
— X0l EXAHA EEE2 &9 X
50,000& * 140H 700
—SANAIZINHE=Z2 228 82 HE
50,000& * 140H 700
—=SXN&H E22 H& 2,000& * 1,50074 3,000
202 044l 7,200 7,200 0
01 2Ll 7,200 7,200 0]
OJI=MeEd 2K 150,000 * 49 = 128 7,200
307 2Iz2to| & 6,000 6,000 0
02 QIZHA AAIE E X 6,000 6,000 0
OMSEXAIE 3 K& ALY 4,000,000 4,000
OMESXAIE SAML E8HI= 2,000,000& 2,000
MREE AEIAMHIA SXAS (KIS AS A I A S Xt 2,500 2,500 0
A
g 2,500
201 2Et2H Y| 2,500 2,500 0
g 2,500
01 AP 22| d| 2,500 2,500 0
OXNGAMIIETAIYE EE2E=S HZE 2,500,000 2,500
= 2,500
SHAFA 2t el ARl 24 H| K| & 294,386 128,131 166,255
= 133,824
= 160,562
101 e1214| 294,386 128,131 166,255
= 133,824
= 160,562
03 2IHAZ2ZXNHE = 130, 106 128,131 1,975
OSEH ALl 22l AF 130,106
— J=22
2,112,610& = 3% * 128 » 1.018 77,423
= 49,284
= 28,139
- =& = 17,560,760 * 3™ 52,683
= 2,400
= 50,283
04 J|12ZtHIZ22NEES 164,280 0 164,280
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M H

200,000& » 12&
670,000& * 1CH
1,000,000 = 1CH

40,000 = 2CH = 12&

3,010
2,450
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1,225
1,225
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2,400
670
1,000
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3,010
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w
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e
e
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oy
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3,195
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1,000

OAteil 22l Ab e (600t 1)

6,390,000&

H A
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6,000
124,250

113,250

17,000

2,250

2,250

_24_




2N

HE: H A4S
SRl FHUNS S FUMBHHA X CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A F=XH R =ZH| 2,250 2,250 0
OXNSASEHE AN 2E/J 2423
375,000& = 63l 2,250
307 gl2tol & 128,000 111,000 17,000
< 6,000
s 122,000
03 BIAHMNHE2IHIEL 78,000 75,000 3,000
OXSAEFHEAM 24l 78,000,000& 78,000
< 6,000
s 72,000
11T MISXASEEX 50,000 36,000 14,000
OXYGASEZEAN 22 & A3AS
5,000,000& 5,000
OXYGAZEZEAN d&2a At
10,000, 000& 10,000
OSHINYMIIBHEIM SaMmd(0ls=R 2
29) 2,500,000& * 1404 4 35,000
S8Hs XEE SEMEA XA 117,600 117,600 0
= 58,800
i 58,800
201 Let2d] 57,600 57,600 0
= 28,800
[ 28,800
01 At 221l 57,600 57,600 0
OsdAtd2tel 283l 57,600,000 57,600
= 28,800
s 28,800
301 LEd = 60,000 60,000 0
= 30,000
[ia 30,000
01 MI2EZE +06l= 60,000 60,000 0
OSZ A &el XA (1200t7) 60,000,000& 60,000
= 30,000
[ia 30,000
SHSANIEMIEEE AN 22 14,000 54,000 A 40,000
< 7,000
e 7,000
201 -4l 5,600 5,600 0
< 2,800
e 2,800
01 At 22l 5,600 5,600 0
OSHSXNAMIEBEZE AN 23
400,000 * 14042 5,600
< 2,800
i 2,800
301 LEHZ 8,400 8,400 0
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AN =S
HE: H A4S
SRl FHUNS S FUMBHHA X CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 4,200
s 4,200
09 HALAHIX RS 8,400 8,400 0
OS8HsSXNIAEZEAN2Ee Y LI A
HI £ & 600,000 » 1404 2 8,400
< 4,200
i 4,200
SX - Uxel - B AASHYA 10,000 0 10,000
< 10,000
201 LB-2E| 6,000 0 6,000
S 6,000
01 At 2t 2l 6,000 0 6,000
Oger==8gH| 6,000
—SXNgel2H FASHEHA E2E 5 7
2 M= 3,000& = 2,00004 6,000
< 6,000
202 odl 1,000 0 1,000
< 1,000
01 = LH 4 1l 1,000 0 1,000
O=sXgRel8d FASHHA =&
100,000& = 5% « 23] 1,000
< 1,000
307 21201 A 3,000 0 3,000
= 3,000
02 QIZHE A ASE X 3,000 0 3,000
O=2Xgiel8d AAEAMEA 23
3,000,000& 3,000
< 3,000
EAEXNHE A 23t 1,000,000 0 1,000,000
= 500,000
< 250,000
e 250,000
201 Yot 2 Y| 74,240 0 74,240
2 37.120
< 18,560
e 18,560
01 At 22l 29,240 0 29,240
Oget=&H| 22,340
—EASNAASHTHEH 29
13,000, 000& 13,000
= 6,500
< 3,250
s 3,250
— Atdl2te] SENILEH 228 & #¢
2,000,000& 2,000
= 1,000
< 500
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A FUEX L
B 3o SN2
S FHAEHNS S FUMHEAHHA XA (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
—OE=A0E 28 B% =g
5,000,000& * 2002 10,000
- 5,000
< 2,500
= 2,500
202 04 d| 2,000 0 2,000
= 1,000
= 500
= 500
01 2L Y] 2,000 0 2,000
OXNEEX 2= Atddl BIXI0OHAY 2,000,000 2,000
- 1,000
o= 500
= 500
301 et M= 23,760 0 23,760
= 11,880
& 5,940
iy 5,940
09 #HAIAHI XIS 2 23,760 0 23,760
OSH Diatgd 23 &AL AdE
1,000,000& =* 14JH" 14,000
= 7,000
o= 3,500
= 3,500
OAlefl 22| FHE 3o A AdHEA
8,000& = 30¥ =103 2,400
= 1,200
o= 600
= 600
OlI2EXNHE s &L Ad 24
8,000& * 100 = 400 A 3,200
= 1,600
o= 800
= 800
OXNEEX 24 & I HFALL AHEN
88,0008 * 40¥H x 53] 1,600
= 800
& 400
= 400
OXNGEXNSHEEN FAX AH 4
8,000& * 40¥ x 83 2,560
= 1,280
= 640
= 640
307 212t0| & 100,000 0 100,000
= 50,000
o= 25,000
= 25,000
02 AABAMAEE X 83,000 0 83,000
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—MNEEZ 7Y S 1,000,000& 1,000
~HARH ARE Y S 1,000,000 1,000
—HYIIEE Y AT 7Y
50,000& = 12& 600
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